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(3) TehteTRa - fafder Heheamn

TR, T
T, @RI
I, PRI
qlqd
Rl ot
AT
q) e, 9
QAT BHRITS! TaTaaadied] BHEMIC! ......... 1 I Ir=ITET o IUYh HET SIl.
9) Y fepedt /TR R) 9o fobHt /T 3) 9y fopet /T g) Q0 fopet/drg
The minimum wind speed of .......... 1s considered to be useful for working of windmills for
agricultural purpose.
1) 5 km/hr 2) 10 km/hr 3) 15 km/hr 4) 20 km/hr

QM IR IRGAM STgeHH 200 gm AT 300 gm 3RIT I ThRI XWAR g Ubrd {2 ¢ m/s 3MfOT ¢ m/
S T ST 3TTeeT. ATl SR B d Car STedTeR Uidel! SRy m/s T AT 8l e HTedTaR Sl

ST T PIal :

9) 0.¢ m/s 2) &0 m/s 3) & m/s ) aRIeTUeh! Teha! Tal
Two objects having masses 200 gm and 300 gm, are moving along the same line in the same
direction with velocities 8 m/s and 4 m/s, respectively. After the collision of the two objects, the

first object moves with a velocity of 5 m/s. After collision, the velocity of the other object is :
1) 0-6 m/s 2) 60 m/s 3) 6m/s 4) None of the above

QI dgehreT Mool Uebrel dosdy faffrst HHICR UTciobleR Yehrel fSehTorer SiTseal SIdld. <l =l ()
TNTG! 3TTg. QFUh! DIUTCH Sghid! Mt SR 3l ues ?

9) ST M URAID I SR 3 ot Q) ST MedkT URRYG T T g oY

3) S MooT ThI dodd SR TScles 8) g MeAAT SRGAMIER S 37T,

Two bullets are fired simultaneously, horizontally and with different speeds from the same place.
Which bullet will hit the ground first ?

1) The faster one 2) The slower one

3) Both will reach simultaneously 4) It depends on the mass of the bullet

duTeiea 3Meel et a1 oTekial o Sideie S|

9) =T dgsie aRaRa. R) FImed weh qurma.

3) gl teh T g ) fecIraT aror 3T Rt BT qieal.

The speed of a wave along a stretched ideal string depends on

1) frequency of wave of the string. 2) only tension in the string.

3) only linear density of the string. 4) both tension and linear density of the string.
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§+}1g+12=@r\f|25, g T faam= T A1 3NSES ST
9) AT THERRT Q) AR i

3) URhGAT FHIHRUT 8) A FHIPROT

g +hg +12 = constant is the mathematical statement of

1) Equation of continuity 2) Bernoulli’s equation

3) Pascal’s law 4) Euler’s equation

QI dgehreT Mol Uebrel dosdy faffciot HHICR UTciobieR Yebrel fSepTurer SiTsea Sidrd. <t = (d)
TR 3T, SFUDT DIV Fgebrat Medt ABIR 3MMeft e 2

9) ST MST YRR I SR Mg ot Q) ST Medtar URfes o ot 3R

3) S ModT Th Jovd STHIER Tscles 8) g MeAAT AR 3asad 31T,

Two bullets are fired simultaneously, horizontally and with different speeds from the same place.
Which bullet will hit the ground first ?

1) The faster one 2) The slower one
3) Both will reach simultaneously 4) It depends on the mass of the bullet
R) W, TEROT

TepT Sigehldl aRHT & kg 3RIT UG Ml AISIMAR 95 990 cm/s I Tfialfie i, TR sigebra
T PIaT :

9) 90.2 kg m/s R) 9.02 kg m/s 3) 9020 kg m/s ¥) 902 kg m/s

The mass of a gun is 6 kg and itrecoils with a speed 170 cm/s. Whatis the momentum of the gun?
1) 10.2 kg m/s 2) 1.02 kg m/s 3) 1020 kg m/s 4) 102 kg m/s

QT IR A A1 B AT aGH 3ghH m, AT m, ST, ~gCTed Telifasies ki FRigaR, A avey
B &R S 9 Ugth PR d,

) FEHE I faog M 3RAd. Q) Y 3MfOT vehrg g 3.

3) FHEM 3T T 9 3R, ¥) I 3T foog eI 3.

Two objects, A and B have masses m, and m,, respectively. According to Newton’s third law of
motion, the force exerted by Aon B is :

1) equal and in opposite direction 2) different and in the same direction
3) equal and in the same direction 4) different and in opposite direction
ST IR R &l e

9) WIh Feeft FHAT A, R) Ugh JAE IRAYHIUIT SR,

3) Ugeh FelleR el =l g) dRIcTUh! Tha! ATl

The rate of change of momentum is :

1) directly proportional to the applied force
2) inversely proportional to the applied force
3) does not depend on the applied force

4) None of the above
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TR ST TMes! TSt IR T B Felivedh RIUER I, Rl qadred] RS Wiefiel

P AU |/ MR ?

37) Sigebrel Ivet, IR fOH, BRI TR, gotare” ST SR HHT S SGehral Mol g PRgoTed] JUehic AT
clegl 3R UhRTAT XGUIT HIgd SIIdId.

) a1 GO 3Gl 3R,

&) G 219 APUIIT IT GOI HSeiedT Ul Mesler ST hregReR SR

T) sfelics doiffcd IMSfefthrs™ Rived & Uh fIdy FUHRT gedsR—ATred3R Uullell doifked
Rl JorT PRUIRATS! ToRaT.

Tt S

9) Beh 3, MM & ) Heh &, A S  3) Beh 3, B IAMI T 8) NI A

Every fired firearm has Ballistic Signature. Choose the correct sentences.

a) The barrel, firing pin, firing chamber, ejector and other parts of the gun in contact with the
bullet and cartridge leaves these marks.

b) These marks are unique in nature.

c¢) These are reproduciable marks on each bullet and case when it fires.

d) Integrated Ballistic Identification System is specialised computer hardware-software
combination designed to compare these Ballistic Signature.

Answer Options :
1)Onlya,bandc 2)Onlyb,candd 3)Only a,cand d 4) All of the above

[ PIVT decaraR B R 2

9) g Q) Sl 3) Xdig Haw ) P Faw
Rocket works on the principal of conservation of :
1) Mass 2) Energy 3) Linear momentum  4) Angular momentum

q) T[T GHATITAT SER JfaeieT SRl ) 9gaAd TRl

3) et 8) T Bl

The two objects are interacting without external force, their total momentum

1) depends on the initial velocities of the objects 2) does not change
3) increases 4) decreases

3) 9

J fau™ e,

31) URRIYUD ot g T Ufgedn araren (first power) T9 THIUTA SRT

§) 3areHs Il (Translational motion) & setraT aRUTH 312

&) ST8 aRAT (rigid body) e HUMET SR A &1, JAAIGRHD TAHE) ARG 3Rl

$) SIS IRl (rigid body) UM YR I g TepT RRR SF&HIacl fORd SRIdHT ARW THT.
I iy faer.

q) (3r) 3T (&) Heh R) (3N), (9) 3nfor (®) ek

3) (9), () 3fr (8) Heh 8) (31), (9), (@) 3r ()
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Select the correct statements.

a) Resistive force is directly proportional to the first power of velocity

b) Translational motion is the result of a force

c¢) Each particle of a rigid body has the same linear velocity in translational motion

d) Linear velocities of the particles of the rigid body are not the same during rotational motion
around a fixed axis passing through it

Select the correct option :

1) (a) and (b) only 2) (a), (b) and (c) only

3) (b), (c) and (d) only 4) (a), (b), (c) and (d)

QT IR A A1 B AT agHH 3ghH m ST m, 3T, ~FeTed Teiifasies forRa= FRigaR, A avy

B ¥R o 9 Ugth PR d,
9) FEE I faog I 3RAd. Q) IFH 3T vt eI 3.
3) FHEM 30T T 9 3R, ¥) IR 3T fovog eI e

Two objects, A and B have masses m, and m,, respectively. According to Newton’s third law of
motion, the force exerted by Aon B is :

1) equal and in opposite direction 2) different and in the same direction

3) equal and in the same direction 4) different and in opposite direction

SR TGS S8 a¥] farferst iR Qe (o eid UBHIIERe 3lies!, TR 1 GRR fhal IRUR 96
LB RIS

a) faIfoeT TAIR SR Wh Povdd 96

b) Seodl U fGe fohaT SRR Tocd 1 95

¢) TIMCRIAT fqog I BRI HRUR gy 90

d) St oM PRi aRuR wfdfoRaT 9.

R DU AU W a2

q) (a) 37T (b) ?) (a),(b),(c) 3mfor (d) 3) (b),(c) 3T (d) ) (a),(b) 3N (c)

If aheavy load is pulled along a smooth horizontal surface, then the force acting on the load may
be :

a) The applied force in the horizontal direction.

b) The force of gravity acting on the load vertically downwards.

c¢) The force of friction acting in the horizontal direction opposite the motion.

d) Reaction force due to the horizontal surface.
Which of the above statements are true?

1) (a) and (b) 2) (a), (b),(c)and (d) 3)(b), (c)and (d) 4) (a), (b) and (c)

AR SAad S 3R dRGHMT TMied WTetl Clehel. TocdTesUl def g fRIR 318 3/ FHslel, T
SUGRITEAT HIThATIRIR Gieal Mos YT JBHNTER TehTd dod MG Iet. Ul SR aR<Ifaeh def Jard eRal
ax

9) SR GG AT TS U STGae.

R) PH! TG IR M UH STGwel.

3) 3l M Tephrd doddl JATGaseiar.

8) RIeTUD! PIEET TG, DRV Il TR & FRR IeT STQIIT cheTierar |ISfidm JuR .
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Two balls of unequal mass are dropped from the same height. If the gravitational force is assumed

to be constant, then the theory predicts that they will hit the Earth's surface at the same time. If

the actual force is used instead, then the theory predicts :

1) that the ball with the larger mass will hit first.

2) that the ball with smaller mass will hit first.

3) that they will hit at the same time.

4) nothing, since the equation of motion cannot be solved without the constant force
approximation.

¥) B, T

UREITET 9T 0% T HedH, RR T ... HHT gIar M7 Sorat MMATHCT ... - AT B
9) 90% 30T 9R% R) 9%% 3T W%

3) 90% 3T % 8) % 3T 90%

By reducing fan speed by 10%, static pressure reduces by and power requirement reduces by.............
1) 10% and 19% 2) 19% and 27%

3) 10% and 27% 4) 27% and 10%

ATellel [TUMTT PIvrT HRIST Sl 312 ?

R Saucidial et figer S fhar gl diere |e Qe FH 3.

9) =T R R) UR=perar FIH

3) =T R 8) YHSRFTHERTAl GavT ™

Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”
1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

............. TIYTAT IR olgM o ofid SHTRIa=<dT Ta9=aT 99 paadrd! Iy gRumy fiesar.

q) goRd G R) YPRTd I
3) HiERd g 8) elid I

............. for buckling of column gives fairly correct result for all cases of columns ranging from
short to long columns.

1) Euler’s formula 2) Rankine’s formula
3) Mohr’s formula 4) Coulomb’s formula
ehld IR AT, AT URIER BRI PRUR T ... 2 3R

9) U 9T g Q) SIRTA o

3) UM T 8) gedtar g&

Find the incorrect answer.

‘Force acting on bridge foundation’, is ................

1) Self-weight of foundation 2) Weight of superstructure
3) Uplift pressure 4) Earth pressure
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y) ShI, Fraat

TehT HIURATET R4 fhatl Il & 4 Hiex SdieR AUIRT 30 Hehe ANIANd, R T HIU dTuRetel! oTch
febeft ?

9) RY W ) 80.c3 W 3) .88 W g) WY W

A person carrying a bag of total mass 25 kg climbs upto a height 5 meters in 30 seconds. How

much power the man needs to carry the bag?
1) 1225 W 2)40.83 W 3) 1.64 W 4)245 W

MERCIST AT AT MU TRIG ol AT I PIoT ?

9) E = 41— my? ) E=m.g. 3) E = mc? %) E=K.E. + PE.
R

Which is Einstein's famous equation of energy ?

1)E=L2mv2 2)E=m.g. 3) E =mc? 4)E=K.E. +PE.

gl IR Par fORRumAT Il EK Sah! TRt SHoll 3MTe. GedTeal Pargd aTex FRRuvIRITe!
feFAT pael Il ool drfest ?

q) Ex Q) %K 3) Ex %) 3Ex
bt

A satellite having circular orbit around the earth has a kinetic energy E, . What is the minimum
amount of energy to be added so that it escapes from the earth?

E E
1) =« 2) =« 3)E 4) 2E
)y ) ) Bx ) 2Eg

...... 1 feoiean EHAR Ueled oMo Il g Qirel ThHaIel Fafte STed:

9) 3T JABCRA ) YA 3) BXBIS §) Haxidel
Both matter and energy are related to each other by a formula given by:
1) Albert Einstein 2) Newton 3) Rutherford 4) Maxw

Tep AU fafeRi Y Aepard aTofl ehral, 0T et <A fafexicsy 90 HebgTe UTuft e, FeULT HIVRATT
...... 3.
9) ol SR ?) Irhl TR 3) il Al 8) orhl BHI

A man fetches water from a well in 5 sec. and a child fetches water from the same well in 10 sec.
Hence the man has ;

1) more energy 2) more power 3) less energy 4) less power
&R ol A ..o TR 3fiegel SN

q) TN Il Al Q) TH Soft A

3) ARG Selt Ald %) 37eRT roll AN

Inexhaustible energy sources are known as .............

1) Primary energy sources 2) Secondary energy sources

3) Commercial energy sources 4) Renewable energy sources

AERTE AU ARRY HaT gauRiet At : 9= fasm/ 3¢
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dToTeiean et ReIreaT a1 ofgsial o Siaeiey SrAd!

9) eI TRt aRaRT. Q) fFImey %eh g,

3) Rt oeh AT G, ) fErmar aror ST T &=t gl

The speed of a wave along a stretched ideal string depends on

1) frequency of wave of the string. 2) only tension in the string.

3) only linear density of the string. 4) both tension and linear density of the string.

o TepT U GAdT HUTT HUTCR T A U= <t T febar T8 el A AT, fsparchier T Sord
THIU fRR 3R, T ... FRIE UM 3.

q) TodRT et Q) URATY §eT

3) Sord HIL ¥) AR Tt

Energy can be transformed from one form to another but it cannot be created or destroyed. The
total amount of energy in a universe remains constant. This is the statement of Law of ......

1) Gravitational Force 2) Nuclear Force

3) Conservation of Energy 4) Chemical Kinetics

9) ge Sooll R) IR et 3) Sofdgd 8) SR ol
............ 1s not a non-conventional power source.

1) Wind power 2) Solar power 3) Hydro power 4) Bio-gas power
IAAIHT PIorT Jofar Treifies B 3 2

q) SHagU Q) FH dd 3) TG 8) BRIgSH
Which of the following is a primary source of energy ?

1) Biofuels 2) Crude oil 3) Gasoline 4) Hydrogen
PRI Tl TeheuTd Wiefielieh! DIV TAST aTRel ST gl 2

9) PRSI FaTE Q) Sl vaTE 3) Welel YdIE 8) IR <sh
Which of the following technologies is NOT used in a geothernal power plant ?

1) Dry stream 2) Wet stream 3) Flash stream 4) Binary cycle
AR FHoreUTd PIURT UM Ih M ?

9) AR Foll SordT NeRY BT 32 ) IR il Sordl e Sd 318

3) AR Il Thull IuGeY 3Te ¥) IR Soll Foral Jgd AT 3

Which statement regarding solar energy is wrong ?
1) Solar energy is a constant source of energy 2) Solar energy is a clean source of energy
3) Solar energy is freely available 4) Solar energy is concentrated source of energy

Teh %] fFatd eIl TocaTehy T fohdl SIcRTc Jeriuu! Wieh! Ued 3T, 3121 HhReAT fEhied) Qo ieudh!
PHIUT Tl FRR Tgehies ?

9) TRRT oot 3) RISt ot 3) I it S ) <t v o
A body is falling freely under the action of gravity alone in vacuum. Which of the following
quantities remains constant during the fall?

1) Kinetic energy 2) Potential energy

3) Total mechanical energy 4) Total linear momentum
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YTAURT WRTG ........... Holl YR FHl.

9) T ?) Ruferst 3) o g) DT DU AATET
Running sportsman possess ...... energy.

1) pressure 2) potential 3) kinetic 4) none of these

A T TR YSHTAT TR WTeflerddh! HIorer Jrefia Faee gigat ?

9) HYOT TS Fooff 2) gl FTHE o

3) YUl TR ool 8) T ! et

During inelastic collision between two bodies, which of the following quantities always remains
eonserved?

1) Total kinetic energy 2) Total mechanical energy

3) Total linear momentum 4) Speed of each body

WISIGUDH PO MY 3esc AT IT AT A ?

9) Heprer—fdegd ufRum 3for &r—fepur Q) fxunest anfor A™erarerET Rigia
3) vmreT-faRga aRRurm YT merarerar Rigid ) foxoneeRt amfor e7—fapor

Which of the following are the discoveries of Albert Einstein ?

1) Photoelectric effect and X-ray 2) Radioactivity and theory of relativity
3) Photoelectric effect and theory of relativity ~ 4) Radioactivity and X-ray

g YA Sdo g ... ot YR ST Sroid Bicl.

9) fergd Q) &gt 3) 3nfuges ¥) INARIHD

While burning fuels which energy is converted into heat energy ?

1) Electrical 2) Sound 3) Atomic 4) Chemical
REHILE]

SR Ueh offg NW Iqferd srieT AT Qre Aot adesrd 91T 0Y4° 3Rie, TR T BHT Flelel S31RT

q) 904 R) Ry 3) ¢y 8) vy
If a line is in NW quadrant and its whole circle bearing is 275°, its reduced bearing will be
1) 105 2) 95 3) 85 4) 75

Wlefled guiHTaR IMUTRT ST TR 3MesvaT

37) Solgre} MU SU9 U9 g IT SO e 3Ted.

§) T ST BIILE M 9% ;9 T W ;9 NI 2R,

@) 7 STTET S8 IR 9§0 o 00 g/bhp TN 3R,

3) I1 SR omfe BRiemdr 32 T 3¢ T SRR 3R

gl SR

LTINS R) T g 3) Ut R 8) fegier giom
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Identify the type of Engine based on the following description :

a) The injector and fuel pump are the heart of this engine.

b) The compression ratio of this engirie is 14 : 1 to 22: 1.

c¢) The fuel consumption of this engine is 160 to 200 g/bhp/hr.

d) Thermal efficiency of this engine varies between 32 to 38 percent.
Answer options :

1) Steam engine 2) Gas engine 3) Petrol engine 4) Diesel engine
WSHHE O AUIT WTetieAtch! DIorct G AlpiT el ?

q) PA-T g R) Jgliele ved

3) fre ugd 8) gfST anfor «ifi g

Which of the following methods is not the popular method of tunneling in rocks ?
1) Full-face method 2) New Zealand method

3) Drift method 4) Heading and Benching method
RgTefieTdehl HIUAT FehRedT URed Tl SBIRIGHAT ST SR 3118 ?

9) TR arefi uwar R) UeR ISR AR U

3) Tt Awpe o ) g 3refiy uxar

Which of the following types of fans has the maximum efficiency ?

1) Propeller axial fan 2) Pressure blower centrifugal fan
3) Radial centrifugal fan 4) Vane axial fan

ST TP B ... ToIRR .

9) PHIAT YR Teic el

) aRAfded R Teaer qRIeh

3) IR YR wic drset

Q) Tefct &FdT INfor Afdreaean Teld, Sl ScGATd  SUeied Shofefl

The capacity factor is the ratio of ................

1) maximum load to the plant capacity.

2) actual capacity to the rated capacity.

3) average load to the plant capacity.

4) energy output to the available energy within the capacity and characteristics of the plant.

PIUT YHRT THIZT  DHI ST TRPRIE, UG &HHE HIGHT WRpIIE  38H PRIveeH gMfdaa
PRATT ?

q) e caie R) e cHigT 3) WA cais ¥) ol catg

Which type of turbine ensure optimum performance with small height difference, but also with
large variations in capacity ?

1) Pelton turbine 2) Kaplan turbine 3) Francis turbine 4) Turbo turbine
B THET oo 7 RIS IR 31TR.

9) wHY B IO = BT Q) I Sl 3T e Ba

3) 7 i 3T Hegw &d ¥) o A4

Kaplan turbine is suitable for the condition of ................

1) low head and high discharge 2) high head and low discharge

3) medium head and medium discharge 4) All of the above
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UL qIOARAT A ... 7 MR HUR B

9) oM Q) fwgeR 3) SR ) feearst Uiy
In a pump, water velocity is converted to pressure by .............

1) Shaft 2) Diffuser 3) Impeller 4) Discharge pipe

AIRITe Uy Sl Faftd Wrefietd o U géhr e ?

q) At dler cRiceg TFH UTSUHEY SRAdeieT ST

Q) feforesst UTSu=an qemid e UTSuaT IR HIGT SRl

3) FFLF USUST e c@locg ST Mool et ST

8) fewarst dgel ciecs fSfefeadl USUHE SAeeiel 2.

Which of the following statements pertaining to centrifugal pump installation is incorrect ?
1) The discharge control valve is fitted in the suction pipe.

2) The suction pipe has larger diameter as compared to that of the delivery pipe.

3) The suction pipe is provided with a foot valve and a strainer.

4) The discharge control valve is fitted in the delivery pipe.

RTINS IR oo 3R TUId

9) FPRIHD faeO= g ) APRHS foRme= g

3) g foeRg Uy ) T |qd

The reciprocating pump is called as ................

1) negative displacement pump 2) positive displacement pump
3) zero displacement pump 4) All of the above

SRS YT (centrifugal pump) 8S ............ 3R, S N g1 a7 31R.

9) N =1 & yHmond ) N =1 & gH1oITd

3) N2 =1 9 yHmnd ¥) N2 =T @R JHTOTT

Head of centrifugal pumpis ............. where N is speed.

1) Directly proportional to N 2) Inversely proportional to N
3) Directly proportional to N? 4) Inversely proportional to N?

AIRPTA JUTE I ........ 3IAATT Tegl SR STRT RIS UTH 8Xel.

9) IS ?) g¢ araur 3) 9T grepoy ) et
In centrifugal pumps maximum efficiency is obtained when plates are .........

1) Straight 2) Bent forward 3) Bent backward 4) Radial
DHERIRS GUNS! ...

q) fRR 2P TERIRIT ¥&ds 3R 37T G¥or 88 JaTgTer Jiaeied 3R

R) fRR S TT TNl g8 HATERR e 3RAd

3) fRR I YaTgraR 3aeigy 3R SN0 TN 8 JATgIuRId T3 3/ d

¥) fFRR &S 3Mf0r Gvvl g8 el MaTgIuRId T 3ed

For a centrifugal pump .............

1) Static head is independent of flow and friction head depends on flow

2) Static head as well as friction head depends on flow

3) Static head is dependent on flow and friction head is independent of flow
4) Both static head and friction head are independent of flow
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9g) PIUAT YHRT Hehed Y—3HISh Gg IR ST ISHT TaoioRAYT g Sauci SIdrd Mfor FaR

caled aratadrd, SFRex fohard smfor st f=|ior aeard ?
9) et T OleR Telied ) §I Y UiRR wicH
3) IRI-ARIG UieR Selicd ®) SRRFC B IR UiaR Telicd

14) Which types of plants use the geothermal fluids that pass through a heat exchanger with a

-3

-9

-3

-3
99-

-3
99-3

secondary fluid and then, drive the turbines, spin the generators and creat electricity ?
1) Flash steam power plants 2) Dry steam power plants
3) Binary-cycle power plants 4) Direct heat transfer power plants

TN : (3) TN - fAfdy e
q) Teht, o

-3 3-3 8-¥ 4-2 &3

) W, RO
-9 3-19 ¥—9 4-3 &R
3)§d
-9 3-R ¥=3
¥) BRI G
- 3-R -9
4) orht, St

-3 3-3 8-9 4-3 &9 V-3 ¢-3 R-3 Q0-2
QR-9Y Pi3-3 9%8-3 94-3 -3 Q-3

R-% 3-R 8—% 4-3 &< v-9 ¢-R R-9 q0-3
QR-3 3-9 98-3
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